Rajasthan REET 2023 Question Paper 26 Feb 2023 1st Shift

Where is the cenotaph of Maharana Pratap located?

(A) Bandoli (B) Boondi
(C) Gaitore (D) Mandal
HETAI AT ) Bad) Hel Red & ?
(A) = (B) &
(C) = (D) wEw

The district of Rajasthan where Tropical Steppe, semi
arid, hot climate is found, is -

(A) Jodhpur (B) Jhunjhunu

(C) Baran (D) Sirohi
TR &1 98 T, STet Soaieadiy =, &y,
FHWT g IR A ¥, q E -

(A) SIHgT (B) H1

(C) =i (D) Tzt

Ravines are mainly found in which region / area of
Rajasthan?

(A) Chambal Basin (B) Luni Basin

(C) Mahi Basin (D) Banas Basin

T & foRE ke / & ¥ gead: dee’ g o ¥ 7
(A) daw S (B) T R

(C) = afe= (D) ==T| SfaA

Which one of the following pairs is NOT a correct
match according to the Census of 20117

(A) Minimum Sex Ratio - Dholpur

(B) Highest Population - Jaipur

(C) Highest Population Density - Jaipur

(D) Minimum Literacy Rate - Barmer

2011 Y STV 3% FgEr Prefifag § & @ /0@
g gd gafaa T 37

(A) =g T — el

(B) aiftdhad SHEET — WYY

(C) waiferp SHEEH 9 — SagT

(D) A G 3T — AT

Lathi series is related to
(A) Petroleum site
(C) Gypsum belt

(B) Aquifer
(D) Lignite belt

gt & wEfe

(A) Tferam &3 (B) wayd

() foe vt (D) frrmse wd

Bilara limestone aread is not located in -

(f;&) Jodhpur (B) Nagaur

(C) Bikaner (D) Sri Ganganagar

P—— il
S (B) M

23 RS (D) AT

7
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Which civilization of Rajasthan was spread on the
banks and valleys of Banas, Berach, Gambhiri anq
Kothari rivers?

(A) Bairath (B) Kalibanga

(C) Ganeshwar (D) Abhar

TR B A A g g, a5, 10 e Ferg

afey % q2f ol mfeal o et g3 ot ?
(A) AT (B) areET
(C) Trgat (D) HrES

Damore Tribe is mainly confined to the districts
in Rajasthan.

(A) Kota, Baran, Jhalawar

(B) Dungarpur, Banswara, Udaipur

(C) Chittorgarh, Pratapgarh, Rajsamand

(D) Sawai Madhopur, Karauli, Bundi

A

Archaeologist who contributed to excavation of
Kalibanga during 1950-53 is -

(A) Amlanand Ghosh (B) Daya Ram Sahani
(C) John Marshal (D) R.C. Agrawal
1950-53 ¥ SIS & Fe@- & H 598 g
W@ AN &, 98 & -
(A) FHAF T

(C) =i =gt

(B) =amom amE
(D) 3T, &, s

Where does Sant Charandasji's cenotaph located?

(A) Bharatpur (B) Mewat
(C) Alwar (D) Delhi
T TOETE S B GEIY HEl feg & 7
(A) AR (B) ward
(C) waT (D) feelt
wrarErs O ged il & -

(A) wigardt (B) X
(C) ®HSw@R (D) JHearET

'RIDCOR' was set up in — e .
(A) October, 2011 (B) November, 2004

(C) October, 2004 (D) November, 2011
'RIDCOR' ({s®) & wifuq fapar ar &1l
(A) oragaT, 2011 (B) aw=T, 2004

(C) T, 2004 (D) 7=, 2011
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Agriculture practice adopted by tribes in South-East
areas of Rajasthan is called :

(A) Kheel (B) Dajia

(C) Dippa (D) Kumari

o™ % R-gd & A enfyeniiay am suam §
oft o areh B B e e

(A) @ (B) afmm

(C) femm (D) g

The statues of which valorous men is situated on the
gates of the Junagarh Fort in Bikaner?

(A) Bhairuji - Kallaji

(B) Jaimal - Patta

(C) Rao Dalpat - Karan Singh

(D) Gora - Badal

HIbHT & SAFTE e F Txa g R g &
iear Rua ¥ 7

(A) HEST — Brams

(B) wO9W — T

(C) U9 To9d — &9 e

(D) T — W

Akwali deposits are famous for -

(A) Feldspar (B) Iron

(C) Copper (D) Marble
ECTICIRE LT % fog aftrg #1
(A) HeE™I (B) T

(C) dfar (D) ETHE

Which ruler of Jaipur married his daughter to Prince
Salim in 1585 A.D.?

(A) Mirza Raja Jai Singh

(B) Bharmal

(C) Bhagwant Das

(D) Man Singh

YT & fhe emae F SuT gt @ fyare srewra eH
¥ 1585%. & fawan ?

(A) fisi T srafde

(B) wIHd

(C) wTa= 3™

(D) WHTEE

What was the first capital of the Chauhan kings?
(A) Delhi (B) Ajmer

(C) Ranthambore (D) Ahichhatrapur
e g F WS T B 1

(A) Tt (B) @mMET

(C) TR (D) afewagY

Which folk instrument is famous of the
Snakecharmers?

(A) Manjira (B) Pungi
(C) Shehnai (D) Bansuri
FUN BT B 1 WD 91 WS 7
(A) ¥ (B) g
(C) s (D) sigdh
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'Bewan' Art refers to -

(A) Wooden art

(B) Stone statue art

(C) Printing on courtyard
(D) Clay art

YA HET G & -
(A) TS el 8

(B) wedt Hfa el &

(C) @rm-fazor &

(D) o1 Faw &

Who among the following sought Deeksha from Guru
Gorakhnath?

(A) Ramdas (B) Dadudayal
(C) Pipaji (D) Jambhoji
P ¥ @ fpeR 16 TeEy @ e o 4 ?
(A) = (B) <rgET

(C) drsht (D) ATeISH

Sangaria-Sanchore Santhalpur Green Field
Expressway does not pass through -

(A) Barmer (B) Sri Ganganagar

(C) Bikaner (D) Jaisalmer
sria-aiER gigayR T Hies wwayad fmd et
e [T ¥, qE -

(A) I (B) Arire

(C) d&MT (D) SrER

qrerdr & IuEiel ¥ —

(A) T (B) @ISt

(C) ait (D) &wadt

& pur B ¥ sl O Ry o TH O I A
I T T GHH FAGT AW BT 7

(A) e quanfsar  (B) 9Es SHEH

(C) s g (D) WS Fw

The difference between East-West and North-South
extension of Rajasthan is -

(A) 72 km (B) 33 km

(C) 27 km (D) 43 km

TERYT % TE—I1REH AR ITi—feror et & oft 3
(A) 72 fasit (B) 33 feeit

(C) 27 fasiy (D) 43 oy

To which state did the Government of India hand over
the administration of Sirohi on 5! January, 1949?
(A) Rajasthan (B) Madhya Pradesh

(C) Bombay (D) Gujarat

5 S, 1949 & AT G3® 3 e @1 womes feg
[T & v ?

(A) TS (B) wug w2y
(C) == (D) T=a
o™ O o daies TahEE O 9wy F53 @) ?
(A) ST (B) TR
(C) Wy (D) @y
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Balda (Sirohi) is famous reserve area for

(A) Copper (B) TIron

(C) Silver (D) Tungsten

g (Rdd) % foe wg@ wwetoo & #)
(A) e (B) e

(C) = (D) &ed

Which of following is the most auspicious sawa
(date & time/mahurat) for marriages in Rajasthan?
(A) Nirjala Ekadashi (B) Sharad Purnima

(C) Akha Teej (D) Karva Chauth

et & @ fqare & fog o @ ge9 wEE oEw

T A AR ?
(A) oo marst (B) oRw gfimw
(C) e diw (D) &ar @y

__ defeated the State Army of Marwar
at Bithoda on 8th September, 1857.
(A) Mehrab Khan and Jai Dayal
(B) Tantia Tope
(C) British army
(D) Thakur Kushal Singh X
SRy 1857w fedlsT R or |

AT B TG 41 I Y

(A) HeUd @M ST Tgeq™

(B) dien 2

(C) st &=

(D) & gy fiE

Vijaysahi is a type of - :

(A) Terracotta vessel (B) Jooti

(C) Ornament (D) Pagri

fasaed us YR HH ¥l

(A) Pl & ad (B) it

(C) smgye (D) TSt

'Bap Boulder Bed' is located in which district of
Rajasthan?

(A) Pali (B) Jodhpur

(C) Barmer (D) Jaisalmer

AT St &' oA % e ey ¥ Rea 27
(A) drelt (B) whegy

(C) 9=™Y (D) FETHT

The district of Rajasthan, which does NOT have its
border with the India-Pakistan international border is-
(A) Bikaner (B) Ganganagar

(C) Jaisalmer (D) Jodhpur

T %1 A R, forge) € ATCa-TiEE
IO v & T Pt ¥, a® ¥ -

(A) dFrT (B) TFRT

(©) EEEEES (D) wEqX

.
e
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Who got the Ekling Temple built in Mewar in the
18th century?

(A) Maharana Kumbha(B) <Maharana Raimal
(C) Maharana Mokal (D) .Bappa Rawal
18 sraredy & wars H e &1 Fmfor gy

THTETT ? \O

(A) WERTON el B) FaErmn e

(C) W Hithed (D)%W

e T wreaEd O € @R Wi O we e
(A) WETHA (B) @s&H

(C) Yo (D) @mw

The maximum Soyabeen progducing districts of
Rajasthan are - Vo)

(A) Alwar, Bharatpur, Daus?\_

(B) Jaipur, Ajmer, Nagaur

(C) Kota, Bundi, Baran

(D) Jodhpur, Pali, Sirohi D

TSR % AT G g frd € -

(A) oER, WYY,

(B) SHEYY, ST, AT

(C) @2, &, I

(D) g, wreh, Redrr 8

T ey’ X1 T A Ak -

(A) qoued Ao (B) =™

(©) s gE (D) GXET ST

According to the Prashasnik (Pfativedan 2021-22 by

the Department of Forest, Rajasthan, which category
of forests area in percentage is highest in the state?

(A) Very Densed (B) serve
(C) Protected (D) Unclassed
g9 fgum, ™ g gemEte giaded

2021-22 % g T ¥ _NO oy o whwew
9 & Faltas ¥ >~

(A) it T (B) LéTrfera

(C) e (D) (3farficha

e i ¥ e ¥ wiE A 7

(A) TS (B) amer

(C) Ty (D) <

The oldest painted text of th&avlewar painting
school is - \O

(A) Shravak Pratikraman Sitra Churni

(B) Sapasanacharyam W'

(C) Ragini -

(D) Bhagwat
At Foxen o e s P st
R
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Which Article of Indian Constitution is about
Gram Sabha?

I WTET BT B |1 AT I & A ¥ 7
(A) 243F (B) 243 C
(C) 243D (D) 243 A

<

In which yedr-was Secondary School Television
Project started2D

vl T i Weige ®e smiw fpar @ ?
(A) 1958 LY (B) 1959
(C) 1961 (D) 1960

What should be the minimum working days and
teaching hoursfer class 1 to 5 in any academic year
according to Act, 20097

(A) 210 Wo%g Days, 1000 Hrs.
(B) 200 Woridxlg Days, 800 Hrs.
(C) 200 WorEhg Days, 1000 Hrs.
(D) 210 Working Days, 600 Hrs.
RTE sRafam(2909 & FFa Ueh Savre ad & Har
19 5 %g o feast @ frerr avel st <gaw g o
Tl ?
(A) 210 % T, 1000 =
(B) 200 & , 800 gvE
(C) 200 #r , 1000 =we
(D) 210 %& g, 600 "
o
Dadrewa is bifthplace of ________
(A) Devnarayanji (B) Pabuji
(C) Tejaji (D) Gogaji
TE@E o T B
(A) TEATIUAD (B) qrgeit
©) wemst [ (D) vl
Lo

When was the
(A) 20-23 December, 2022

(B) 11-13 November, 2022

(C) 20-23 November, 2022

(D) 11-13 December, 2022

Srege ¥ org s FEX (FBd Aew) B ST oy
gt ar’? L)

(A) 20-23 &87 2022

(B) 11-13 7F#Y, 2022

(C) 20-23 7Fa=Y, 2022

(D) 11-13 fe@sy, 2022

% Job Fair organised in Jodhpur?

46 Read the following statements carefully :

47

48

2

I. Rajeev Gandhi Scholorship for Academic
Excellence Scheme, was started in Rajasthan
from 2"d October, 2021.

II. The objective of the scheme is to provide
financial assistance to students of Rajasthan to
study in top Foreign Universities in world.

Identify the correct option -

(A) Both I and II are false.

(B) [ is true, II is false.

(C) Tis false, Il is true.

(D) Both I and II are true.

frfafad Bae! &1 TEUTgEd HqT BT :

I el i @ttty B Thsiie qaid dre
[T § 2 ST 2021 ¥ 9o @1 TE |

LI O T ST R & Bl @i fasg & oind

fash fsafameal # wen % g foim ergan
WaT BT §1

e ferapeq a1 TG T —

(A) 1 8T 11 3 Ted 21

(B) 1% %, Il 7@ ¥

(C) 17wa &, 11 @& &)

(D) 18 11 1 981 ¥

Under the "Virasat Yojana", loan upto Rs. 10 lac is
made available to male artisans of notified minority
community at interest rate.

“fortea Ao % et el SieTEEE® SR

% J6Y BN B et &€ 9 10 9@
T T BT R ST HOAT ST T

(A) 3% (B) 5%

©) 7% (D) 2%

Tomb of Bohra Muslim Saint Abdullah Pir is
situated at -
(A) Ajmer

(B) Dungarpur
(C) Banswara

(D) Rajsamand

WET YR Wl srsge DT 1 Hepa o -
(A) o ¥ (B) $RYT ¥
(C) qiaqreT o (D) TwEH= §

Minimum age limit for "Padhna Likhna Abhiyan"
18 - vears.

“mﬁiﬁﬁlmﬂﬁ"%mwmm
¥ 2

(A) 19
) 15

B) 12
(D) 17
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50, Who among the following are elligible for Indira

Gandhi Shahri Credit Card Yojana?

1. Hair Dressers (Age between 18-40 years)
2. Tailors (Age between 1840 years)

3. Plumbers (Age between 18-40 years)

4. Street vendors identified in survey

(A) All'1,2,3and4 (B) Only 4

(C) Only 2,4 (D) Only 1,2, 4
Frfefad & & @ 3few midh el Bfee w1 g %
ffogm & ?

I & SET (3mg 18 & 40 )

2. T (MY 18 | 40 )

3. wEY (3g 18 § 40 T)

4. w9 ¥ fafed € Ju=d

(A) 891 1,2,394 (B) %ad 4
(C) %aw 2, 4 (D) %= 1, 2, 4
51 'Education' is the subject of which list in the Indian
Constitution?
(A) Residuary List (B) Union List
(C) State List (D) Concurrent List
e dfau & Rrar few gl o faoa ¥ 7
(A) orafire T (B) wu gt
(C) =g gdr (D) @wedl g
52 When was the Mission Foundation Programme
launched?
(A) 5 September, 2022 (B) 26 January, 2022
(C) 20 February, 2022 (D) 11 July, 2022
‘s giaTe R & AT HF A7
(A) 5fadsg, 2022 (B) 26 wWadll, 2022
(C) 20 ®xadl, 2022 (D) 11 9@, 2022
53, Chanderiya plant is situated in Chittorgarh.
(A) Steel (B) Asbestos
(C) Zinc (D) Copper
Tt w4 fadee ¥ Raa %1
(A) @ (B) TE®H
(C) wr&m (D) @
54 Demoiselle crane is district mascot of
(A) Jhalawar (B) Jaipur
(C) Jodhpur (D) Jalore
FTAT 1 foen gyt ¥
(A) #remErs (B) 43T
(C) g (D) e
55 K. C. Maloo, who received the Rajasthan Ratna
award, is associated with which field?
s, B e
Judicia D) Sculpture
BB IE Tﬁ'ry m%aﬁ%. . wrq fore &
Y gafyg ¥?
(A) &= (B) &ira
(C) = (D) et
P2 1 -

56

87

58

59,

60,

61,

Full form of DIET is :

(A) District Training Institute

(B) District Education Institute of Technology
(C) District Education Institute

(D) District Institute of Education and Training
ST32 & QU AW E ¢

(A) e ufdreror gem

(B) faen dvenfirar freror g

(C) Fae freror deems

(D) Toem fiveror wa widreror g

In which district, Camel Research Institute is
situated?

(A) Jaisalmer (B) Jodhpur

(C) Barmer (D) Bikaner

fopwr et o ‘G2 srgEY™ we R e ?

(A) SrEEHT (B) wEg

(C) "=H (D) &R

At the time of formation of Rajasthan, the institution
of Public Service Commission existed in only
of the 22 covenanting States.

TERAM T & TeT & 99 AJ4Y L ad Fal

Ry A G HEAE — ® & Wl g9 A
HRT o1

A) 2 (B) 3

©) 1 (D) 4

Who among the following is not a Guru Dronacharya
awardee?

(A) Mahendra Singh (B) Anoop Kumar

(C) Virendra Poonia (D) Sagarmal Dhayal
frefofaa & @ @ 15 S g fcwr 48 37
(A) wes s (B) &@ 3

(C) dres g (D) 9rrd gmae

Under the Mukhyamantri Dugdha Utpaadak Sambal

Yojana, I per litre grant is provided to the
milk producers.

TEEH §H IAE WO Ao & qed gy SwEa b

X wftt fret argem wam fapar sman 21
(A) 7 (B) 2
© 4 (D) 5

The aim of the Bal Mitra Yojana is to help the
children affected by _____

(A) Blindness (B) Child labour

(C) Sexual harassment (D) Malnourishment

I R AT SRy & gy q=dt @
GETgar 3 B
(A) Sr=HTaH (B) «re wwigdy
(C) e saisq (D) Fdryor
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63

Iy

Section 14 of RTE ensures -

(A) All of these

(B) No child shall be denied admission in a school

for lack of age proof

No Detention Policy

No child shall be subjected to physical

punishment or mental harassment

RTE @1 911 14 gffyaa & & -

(A) A gt

(B) Todl STeteh &1 1Y &1 T A1 8 % SR Rrened
§ ga9 ¥ SHR TE fear S gaa

(C) T iR freapras & whmy

(D) et S1ees @ STiifte ave 8} fear s ar sga
ARy sedis T8 favar som

(€)
(D)

Characteristic feature/features of Public Schools
is/are :

(A) All of these

(B) Residential School

(C) With all amenity

(D) Focus on adolescent's personality growth
ufes e @ [aerar/fasieand 2% -

(A) T T+

(B) 3@ fqawy

(C) gfaurga

(D) TRl & aaferae g ot wm=

According to the provisions of Section 8 and 9 of the
RTE Act. 2009, it is the duty of the

to provide learning material to the children.

(A) Parliament

(B) Central Government

(C) State Government

(D) Ministry of Education

RTE aifgfas, 2009 & arxr 8 9 9 & 9r@gmt &
FFaT feenférat @ siftrm gl Sude SR @ e
g & -

(A) 995 &1

(B) &% G &I

(C) [T FidIT &l

(D) freq waTerd &1

What is the 'tag line' of Indira Rasoi Yojana?
(A) Koi bhookha na rah jaye

(B) Koi bhi bhookha na soye

(C) Har hath ko bhojan

(D) Har bhookhe ko bhojan

S TEE Ao B Hhed 91 F1qr ¥ 7

(A) &I Jar 1 & |Y

(B) &Iz i @1 71 |

(C) & &g ®I WA

(D) & @ & HiwH

66

67

68

69

70.

The 74" Amendment Act did not provide for the
constitution of which type of municipalities in
every State?

(A) Municipal Corporation

(B) Nagar Panchayat

(C) Town Area Committee

(D) Municipal Council

743 e afufraw & yds T H feE weTT @t
T % TS B grauT T ¥ 7

To which oceanic current can the Gulf stream currents
be compared?

(A) California Current (B) Kuroshio Current

(C) Oyashio Current (D) Peru Current

Teh B9 & ol g e FemEd 4ra | @i o

qhal & 7
(A) Ffwffgrara  (B) wgaim@Er g
(C) ey ar (D) & 4

Who was A.O. Hume?

(A) Governor General of India
(B) A Businessman

(C) A Politician

(D) Retired Indian Civil Servant
T EH B A7

(A) WIGE % TG S

(B) ua =Amard

(C) W ¥

(D) Hartiga W fafye des

Which among the following pair is not correctly
matched?

Provisions of Indian Sources

Constitution
(A) Emergency provisions Germany
(B) Fundamental Rights USA
(C) Procedure established by law Japan
(D) Concurrent List Canada
Pt & § A @ g gt TR R 7

T Wa= ¥y |
(A) SUTHHAT TTEE AT
(B) dfvies arftrarx guEy
(C) fafy zror wnfta wftsan BLIE
(D) HHadt g HATST

How many national parties contested in first Lok
Sabha elections?

%??%gmmwwﬂfﬁﬁ%mﬁ%m
(A)
(©)

14
12

(B) 11
(D) 13
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71. Match the following :

72

73

74

78

P2 | :

a. Rigveda

b. Samveda

¢. Yajurveda
d. Atharvaveda

fi‘{ﬂ%ﬁwaﬁ"gﬁﬁmaﬁﬁq:

a. ®a] () l. Ty

2. yatast

3. yrauY

4. Mgy

(A) a3, bAe2, -1 (B) al, b2, c3, dd
(C) a4, b(2 “c3.d-1 (D) ad, b3, c-1, d-2

When was 1he Battle of Giri Sumel fought?
(A) June, 1545 (B) January, 1543
(C) Januarvi1544 (D) January, 1545
i goe U gE &9 @S T a1 ?

(A) =, 1545 (B) w=arll, 1543
(C) Salif544 (D) sHadl, 1545

The reservatfon of seats for the Scheduled Caste in
Panchayati Raj institutions is not applicable to the
state of : (")
(A) Tripura

1. Aitreya

2. Panchvish
3. Satpat

4. Gopath

(B) Manipur

(©) Assam (D) Arunachal Pradesh
TG TS W A Srrad S b ford e av s
%I e ﬁ@g o o &7

A) B (O (B) Hftrge

(C) ¥™q (D) STEuTad edl

Which amohg the following statements is not true?
(A) It is not_necessary to hold any election if the
remainder period after dissolution is less than
6 months.
The term of office of Panchayat is five years
from thefdate of its first meeting.
In case-of dissolution of Panchayat, fresh
e]ecth 1o be completed before the expiry of a
period of six months.
Panchﬁ}ats constituted after early dissolution
enjoys.the full period of 5 years.
Py & & I W HUT ora & 7
(A) afz Tarag & fqee & 18 19 srafyy 6 @rE & &H
¥ A ga SO A1EEH T E
(B) W@mmwwamw%u
(€) Wa?;ﬁw%m6qﬁﬁﬂ?ramﬁrmﬂﬁ
g TS HTH & |
(D) - 5w (% a1e Tasd T ui ad % Frde
e TEC %1
L)
Where was g‘rkbar born?
(A) Agra . . (B) Amarkot
(C) Kabul' ’ (D) Lahore
HABET BT A fopd T G g1 o1 ?
(A) &wTa (B) W&z
(C) ®ga (D) R

(B)
©

(D)

76

78

79

8

The first woman Union Minister of India was :
(A) Amrit Kaur (B) Vijaya Lakshmi Pandit
(C) Sarojini Naidu (D) Meera Kumar

AT &) geell afeen darg w3 A
(A) &gd B (B) fawrg @&t dfsq
(C) wofwh g (D) 1 AR

Arrange the following in chronological order :
I.  Sarkaria Commission
II.  Administrative Reform Commission
III.  Punchhi Commission
IV Rajmannar Committee
Anandpur Sahib Resolution
ﬁﬂﬁxftqa &I BIAHATIHT FARYT B -
. OCIEr dmae L 9eTEie gUTT S
. g8 e V. SE=1C S
V. &eyR s g

Select the correct code :

el g gi
(A) L, V. IV, IIL II (B) IL IV, V, I, 11l
(C) LIILV,1V,II (D) IL I, LIV, V

Who among the following is not a member of Zonal
Council?

(A) Administrator of each Union Territory in
the Zone

(B) Home Minister of Central Government

©)

Prime Minister
(D) Chief Ministers of all the states in the Zone
= % & B @i uftag 1 e A e
(A) & % e dasniid W29 F weTED
(B) e HIHIT B Teds
(C) werH==I
(D) & % §uEd T % qeaws

Who presided over the Calcutta session of the Indian
National Congress in 1906 A.D.?

(A) Bal Gangadhar Tilak

(B) Surendra Nath Banerjee

(C) Dadabhai Naoroji

(D) Lala Lajpat Rai

1906 . & WA TG HF F dHetedr st @
Segerdr e @ o ?

(A) 9 YR e

(B) L=y a=wit

(C) =TeTTE IS

(D) <re WeYd g

Which Lok Sabha has the lowest number of women
elected?

(A) Sixth (B) First
(C) Third (D) Fifth
g Wime § 999 &9 qieard fraffad gdi ?
(A) B (B) wee
(C) drad (D) wr=dl

| Contd...
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The Union Executive does not consist of which of the
following member?

(A) Prime Minister and Council of Ministers
(B) President

(C) Attorney General of India

(D) Comptroller and Auditor General

e o @ B HHY ST B gy @ E 7
(A) 9EE Ud Hiea

(B) regaid

(C) ¥Ia & HErEn)

(D) Frasrs wd g gdes

From which place is Rani Pillar inscription of Ashoka
tfound?

(A) Allahabad (B) Delhi

(C) Mathura (D) Bihar

AT &1 T B T TG B ¥ W I8 ?

(A) FETEER (B) fawwr

(C) =y (D) faex

Which among the following Fundamental Right is

available only to citizens of India and not to

foreigners? '

(A) Freedom to manage religious affairs

(B) Prohibition of discrimination on ground of
religion, race, caste, sex or place of birth

(C) Equality before law

(D) Right to elementary education

=1 ¥ ¥ & g Hifvs sifrere 9Rdd AT &
ard #, TRyt & @ ?
(A) it gme] & ydeH @ @asiar

(B) =, w1, it R a1 SR % ST g¥ HeHd |

&1 faY
(C) @A % Ta& G
(D) wrifires farem @ ettt

Which among the following Directive Prinqiplg was
not originally there but added by Constitutional

Amendment? . N
(A) To secure for all citizens Uniform Civil Code

throughout the country.

(B) To protect and improve the environment and to
safeguard forests and wild life.

(C) To organise agriculture and animal husbandry
on modern and scientific lines. .

(D) To protect monuments places and objects of
artistic or historic interest. .

fom & & @ @ it Prderd a qw afaur § T8

T FAete Gele & & SISt T4 Y

(A) e AR & g @A A diedl
gfufyad s

(B) vaferer a1 H<erl qen Gaua iR o qUr o St
&I T _

(C) iy ofix agTee &1 ATy T dsiiie Jonfed!
g gfed &Ll

(D) e a1 UfeTiie sl ard SETE a1 @
&1 G BT

P2 | =

85 When did the Constituent Assembly constitute the

Drafting Committee under the chairmanship of B. R.
Ambedkar?

(A) 29 August 1947 (B) 26 November 1949
(C) 9 December 1946 (D) 13 December 1946
Ay T X . T, rESHT B AHA § ey
afif &1 e &9

(A) 29 &Ted ]94?c—-> (B)
(C) 9 famaT 1946 \ZD (D)

26 a9 1949
13 fed=t 1946

86 Which ruler fought hgainst Muhammad Ghori in the

Battle of Tarain in LI91 A.D.?
(A) Vijaychand ()
(B) Jaichand cY
(C) Prithviraj Chauhan
(D) Dharmpal
1191 %, & ot & g™ R6a se 3 gewe M %
s g @t A ¢y
(A) fosEa= O
(B) wmma=< [~
(C) gedrT e LEY
(D) T P

87 " Which association (\ms founded by Surendranath

Banerjee in 1876 A.D.?

(A) Bombay Association

(B) The Indian AsSatiation

(C) British Indian &Ssociation

(D) Calcutta Nativg@ssociation

1876 5. & Gy sl + fooet e b wmae by o ?
(A) T TEifsT

(B) & sfvggs qu‘r%xgﬁ

(C) fafesr shemm 9

(D) Hwehar Afed FIE ]
88 Where is the "Adhai-Pin Ka Jhonpra" located?
(A) Ajmer (B) Delhi
(C) Kannauj ( (D) Badaun
o Rt @ gt e R 7
(A) SR ™ (B) faeh
(€) &= L D) ==

O

89 In which case SuprE?Q Court opined that Preamble

is not a part of the Constitution?
(A) S. R. Bommai«Cdse

(B) Berubari Uniop-Case

(C) Keshvanand B%\i Case
(D) Minerva Mills Case

feber o & Seaaw Sy 3 ffa far % g
GICCIE i O 2

(A) TH. AR, TR

(B) w&arll %= amer)

(C) HeramE |l JHan

(D) ol frew A
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The bronze sculpture of a dancing girl was found in
which of the following archaeological site?

(A) Dholavira (B) Lothal

(C) Mohenjodaro (D) Harappa

T i wie-gf Pt 3 & frw oo o
Hyrd g% A7
(A) dremErT
(C) wre-ige)

(B) ®uw
(D) &swr

Which factor is not responsible for the origin of
ocean currents?

(A) Attractive force of Moon

(B) Rotation of Earth

(C) Variation in Ocean salinity

(D) Evaporation and Rain

HEETTIG gTastl & Sat § B9 91 $Re Iq@rd)
TEIR?

(A) T=HE & AHY i

(B) 9=t 3 wftssor iy

(C) weErTig @avar § Ry=ar A
(D) arsdredo 9 auf

Cantonment Board is administered by :
(A) Public Enterprise

(B) State Government

(C) Central Government

(D) Both State and Central Government

BT 91 gentaa fear sar @
(A) drEsIS 399 &

(B) U (@R &

(C) %z §{@R &

(D) 2FI %= 9 T L@l &

In which script are the inscription of Shahabajgadi
and Mansera of Ashoka?

(A) Brahmi script (B) Kharosthi script

(C) Aramaic script (D) Greek scrip

HSiIHT HT SEGTTTE ST FHEEU § I AN D

o fafy 5 27

(A) =l fafy (B) @l fafr

(C) srowress fafe (D) g fefy

Champa was the capital of which of the following
Mahajanpada?

(A) Magadha (B) Anga

(C) Kosala (D) Kashi

i wersmge & @ = R Twer o ?
(A) #H7T" (B) &

(C) wiEd (D) et

P2 =+ 10

96,

97

98

95  Which among the following alternative is not present

with President in the case of Money Bill?

I.  Give his assent II.  Withhold his assent
III. Return it for reconsideration

IV. Suggest amendments

Select the correct code :

(A) Tand Il (B) Only III

(C) I and IV (D) Only IV

frafafaa & & &9 a1 e a7 fadas & g6y
Trszafer & e Hepe TE ¥ 2

. ouff T ®@daT & Il gAld dl A% Gadbar &
. gafEr & o ag 3 @ &

IV. doles & fawifier & gdar &

we g ghw
(A) 1&ix 11 (B) e III
(C) MaRIV (D) %« IV

Which of following statements is not correct?

(A) National Commission entertains complaints
where value of goods or services exceeds ten
crores of rupees.

(B) Consumer Protection Act, 2019 provides for
setting up of a three-tier enforcement machinery.

(C) The National Consumer Disputes Redressal
Commission is briefly known as the National
Commission.

(D) District Commission entertains the complaints
where value of goods and services exceed one
Crore rupees.

1 A A B e a w ?

(A) T arErT 2T TEge 9 danet H 10 H4 9
¥ ot Tea & TS 3@ 9 ¥

(B) Suwier wvawr aifufram, 2019 ¥ R—wriry yada
o Wi B &) sawy ¥

(C) T Suviiera ferang framcor s dérg &
AT & AW § A S ¥

(D) e s & wgelt @ Aareit % uw Hie T
T s T & qme @ 9 ¥

Where is major groundnut mandj located in
Rajasthan?

(A) Alwar (B) Bikaner
(©) Bhilwilra (D) Udaipur
TSI & YT B G w3) st Ry & ?
(A) AR (B) @Mt

(C) HrearsT (D) s=agy

At which of following places first Spices Park in
Rajasthan was established?

(A) Bikaner (B) Jalore

(C) Jodhpur (D) Kota

o & ¥ TS & e wIm 9wy s o &)
YT &Y TS A ?

(A) dr@ET A (B) T H

(C) wagR A (D) @rer &
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09. Which of the following is not a commercial grain
producer region?
(A) Kampas Region (B) Prairie Region
(C) Stepes Region (D) Pampas Region
aaifie 31 Iares &4 Preafafeg ¥ § P a T € 7
(A) HETT HR9T (B) Il wear
(C) V9 yeu (D) 99T W9

100 Which of the following lakes is linked with
Chicago city?
(A) Victoria lake (B) Superior lake
(C) Michigan lake (D) Erie lake
fr ¥ @ o & e irern st & aafuq &7
(A) Taita e (B) giifm
(C) Ty shw (D) <A i

101, The year of establishment of World Trade
Organisation is -
faga AT GTeA B e @ Ay @
(A) 1996 (B) 1995
(C) 1994 (D) 1993

102 In India, the share of industrial sector in the gross
value added (at current prices) in 2020-21 was :
qRd ¥ 2020-21 ¥ Fahe, 9% T I (I DHAl W)
F afeifiTs &5 1 39T o
(A) 26.8% B) 253%

(C) 25.9% (D) 24.7%

103 In which year the National Food Security Act was
enacted in India?

gred ¥ Ui @ geanr sifufrem e ad s

g AT
(A) 2011 (B) 2012
(C) 2013 (D) 2014

104 The state of India having the first rank in human

development index in 2022 was :
(A) Kerala (B) Sikkim
(C) Punjab (D) Goa

2022 ¥ 9@ ¥ HHd fame gasie § 949 B qrd
H{A arer g AT ¢

(A) HE (B) fafermw

(C) dUoE (D) ™

105 Match the following regions and crops of tropical
plantation agriculture :

Crop Region
a. Banana i.  Sri Lanka
b.  Sugarcane ii. Cuba
c. Tea iii. Malaysia
d. Rubber iv. Central America
I ANTH HIY & o=ia Frataiad & qan
wHel bl GArAd B
A &
a. el i. s
b. T . agar
c. W™ iii. ATy
d. @s iv. T ot

(A) ‘a-ili, b-i, v, di (B) ‘-3, beil, c-ifi, deiv
(C) i, b, -, d-iii (D) a-iv, b-ti, c-i, d-fil

P2] =

106, What is the average air pressure recorded at the sea

surface?
|7 @ wae 9 olvad argera feaen af Rear s ¥ 2
(A) 1000 mb (B) 1013.25 mg
(C) 1000 mg (D) 1013.25 mb
107 Removing barriers or restrictions set by the
government is known as :
(A) Both Globalization and Privatization
(B) Liberalisation
(C) Globalisation
(D) Privatisation
QI I W T wieasl a1 swmaEet Bl g2
HEATAT &
(A) Ay g Pl =1
(B) Tardihw
(C) dgdirepor
(D) faeirereor
108 The New England industrial region lies in ;
(A) Australia (B) U.S.A.
(C) England (D) New Zealand
' grdvs sienfire et Rea
(A) arefoar o (B) g.ud.u. ¥
(C) dmivs ¥ (D) geiros &
109 Which of the following is the permanent wind of the

tropical region?

(A) Chinook winds (B) Westerlies

(C) Trade winds (D) Polar winds
frrafofaa ¥ & Swmafeasl @ @ v &= @ ¥ ?
(A) fo wem (B) UGS T

(C) =i gas (D) gdd wad

, An alternative way to calculate the GDP by looking
at the demand side of the products is :
(A) Income method
(B) Product method
(C) Value added method
(D) Expenditure method
ST & HIT Wel % ST UL ebel ©{S] SeUTE Y T
FHH B TH qpiedd T &
(A) oy fafy
(B) wwrg fafy
(C) R T yew @ fafk
(D) =g fafy
Name of district of Rajasthan having maximum

number of Self Help Groups in the State as on
December 29, 2022 is :

110

111

11

(A) Bharatpur (B) Alwar

(C) Karauli (D) Churu

feamt 29, 2022 B TS ¥ w@d gEEdr YE B
ey dEr are frer &1 9

(A) WAy (B) 3@at

(C) & (D) &
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112, The writer of the book ‘Poverty and Un-British Rule | 116, Match the following :

in India’ is : Agriculture Type River Basin.
(A) V. V. Bhatt a. Intensive Subsistence i. Murray Darling River |
. B -
{5 BCotrom '!yengar b ?/Ige';?tl;:'trl::ean i S:S::-Ana River Basinm
(C) Dadabhai Naoroji ' Agricultire '
(12) K. Mukherjee u- c. Commercial Grain  iii. Congo River Basin
wrae] gue o -fafesr ww T z’ﬁ'@m J&% & WES & Producer Agriculture
(A) 9. @Y. w3 d. Shifting Cultivation  iv. Ganga River Basin
(B) Q’H@rmﬂﬁlmﬁ'( ' gafer &
©) 5 i LY F qHR T AR
D) % 5 CD a. T&A Frafes Hiy i, WSt &) Ifg
' ™M b. HEREIT HiY i, Fr— & AR
L : c. FMNH 3 iii. B & A
113 The state of India having the maximum per capita TTE
net state domestic produ€tiin 2020-21 (at current d. TS F v, T T4 At
prices) was: o (A) a-i, b-ii, c-iv, d-iii (B} a-iv, b-ii, c-i, d-iii
(A) Gujarat (B) Tamil Nadu

(C) Maharashtra B)-G (C) a-ii, b-iv, c-iii, d-i (D) a-iii, b-iv, c-ii, d-i
aharas -~ Goa

2020-21 (3 Hrelt 1) F rferaparw iy st P‘@ﬁ 117, Mediterranean type of agriculture is practiced in;

T H{E IWE ATl W B o (A) Rhine River Basin (B) Califoria
(A) Td (B)"‘yaﬁ:[a:n'g b (C) Nile River Basin (D) Seine River Basin
(C) W (D) Tem . TASEEITIY . Fo b Fiy Frfafea fog wer & @
SRl ¥, T8 ¥ -
114, Khamsin winds is known aSDoctor Winds" in Whlch (A) T T ﬁ o (B) Hferpifar
particular region? e EE (©) W@ @radt (D) @ 7w wwy

3
Eg; g:;llle éﬁ?;&;ﬂlﬁ 118 According to Economic Survey 2021-22, the overall

service sector gross value added in India is expected
(C) Gulf of Khambhat {7 to grow in 2021-22 b
(D) Ginni Coastal Region— 4 45

2 i gda 202122 F AR ¥ 2021-22 §
QHIY TET @ STt g T ¥ fe & fagiw wmﬁmﬁgqﬁq@ﬁq&gwg

ST STl & 7 , (A) 82% (B) 7.8%
(A) faett aerg &5 < (C) 8.83% (D) 8.5%
(B) % @ &= > .
119 How much time does the Moon make one round of
(C) @™ @ @il & O the earth?
(D) fir @/ &= [~ (A) 27.5 days (B) 29 days
Ly (C) 27 days (D) 29.5 days
115. The correct expression is ¢ THAT, G B T T e et A Q1 dear &7
(A) NDP = GDP + Depregiation (A) 275f%= (B) 29 f=
(B) NNP = GNP - Depreciation (C) 27f (D) 29.5 R

st = National Income (NI)
Eg)) TE:T(]:: zENﬁ‘;tT cngP ;\_Deprecmt:on & NNP at | 120 Which of the following is not an impact of

globalisation in India?
factor cost = NanmE‘JJIncome (ND) (A) Creation of new jobs

T8 afyef & (B) Lower standard of living
A IR + [oIRTE (C) Lower prices of several products
EB; :J'@ aﬁmﬁ:ﬁ 'ﬂﬁfﬁﬂ T — T (D) Improved quality of several products
IS T “é'”_ L= Pt & & @ &1 e & Avdineor @ wure 78 ¥ 7
©) w97 @ W IS SR = TS (A) T @l &1 g

(D) € TSR IAE = a6 T SAK — ae (B) Fra e
E W W W) S TS SAE = TS 87, (C) =% T@mN & Y Frrd
Bl (D) %% S @ oreEn ¥ guK

IP2] = 12 [ Contd...
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5 The primary objective of the East India Company in

Which of following is the source of informal
sector loan?

(A) Both Money-lenders and Traders

(B) Money-lenders

(C) Traders

(D) Cooperatives

i § 9 B9 91 g &% & g & 7
(A) WEHR T AR I

(B) dEdT

(C) =iy

(D) ges gend

Which of following is not a function of Rajasthan
State Agriculture Marketing Board?

(A) Fixation of price of agriculture products

(B) Infrastructure development in mandi-area

(C) Training to farmers

(D) Improvement in marketing system

= % @ 39 &1 Tee™ T HiY faqum 9 & e
SR

(A) HiTa IERT & B @1 Frafor s

(B) HEI-&3 § HIEATHS faehrd HTAT-

(C) Termmt @i wfdteror &=

(D) Taaore gomer & g &

Which of the following is not a part of terms
of credit?

(A) Education of borrower

(B) Interest rate

(C) Collateral and documentation

(D) Mode of repayment

o & @ T8 ara @) oTal A qnie TE Rear wwer ¥ 7
(A) U o9 arel i o e

(B) = 8¢

(C) duifyde o wer@

(D) gF4TTam &1 qlret

Which of the following is not included in the
consumer rights?

(A) Right to speak  (B) Right to safety

(C) Right to choose (D) Right to be informed
Pt § | fepma Suviigan eifuard § afdferd T8
e e & 7

(A) e &1 Al
(C) =gw &1 HAfuHR

(B) ga & BT
(D) ghad e 1 Sifdr

India was :

(A) To destroy Indian agriculture

(B) To earn profits from overseas trade
(C) To develop transport system

(D) To develop industries

gg ¥ $w fear e @ wathe 359 o1 ¢
(A) WA B B 7= BT

(B) HHEUX AR & WY AT

(C) aTaraTd WoTe @1 feesfd @

(D) war &1 fae s

2] =+ 13

127

128

129,

130

126. Which of the following is a traditional approach?

(A) Disciplinary (B) Interdisciplinary
(C) Multidisciplipary (D) Thematic

méﬁ?mwm%?

(A) foht o (B) s

(©) whwdr . (D) favEm
LO)

Which of the folfowing found as a step in problem
solving method?Y")

(A) Planning of the project

(B) Conductin%g:l‘iscussion

© Formulatio{ f hypothesis

(D) Follow-up‘ ogramme

= ¥ B | E' oy fafy & us @9 6 w0 A
T S ¥
(A) TS BT SFEIS BTN
(B) ufcaal &1 gigrs &
(C) uftameasait @t frmfor &

(D) et i

va]u_e@rowde opportunities for reducing
the monotony o&g:ademic work.
(A) Recreational., (B) Aesthetic
(C) Disciplinary . (D) Vocational

Qeafores wraf & Qq:;{%m I % B & (0T
T ST W B ¥ :
(A) FAREHATHS (B) dHr<atei®
(C) fawht =g (D) =HadIRI®
D
At national level’ is making efforts to

come out with tactile maps for visually challenged
children.

(A) NCTE (B) NUEPA
(C) NCERT (D) UGC
TG R | ofe ifta s=af & forg @t
S TR S $ g same w1 e ¥
(A) @A 42, (B) wH. g($ d.u
©) .94 9/ & (D) g o &
[\\

Which of the faltpwing component of content is
covered under psyehomotor aspect of development?
(A) Creativity o) (B) Problem solving

(C) Language teaching(D) Interest

T | AT W1 IS 1 a fparesd a % faw
ST o 7

(A) geATHSHAT
(C) =rur =1 fargor

(B) ww@m g9 e
(D) erftrefa
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131 Arrange the following five model of understanding
level of teaching given by Morrison in sequence :
i.  Presentation ii.  Recitation
iii. Exploration iv.  Organisation
v.  Assimilation
e &1 RY T @ty @ @ frerr sgaen % gig
|l B /e HH N v

i WA i, gue
i, SOy iv. =g
v. Ui

(A) iii, 1, v, iv, ii

(B) i, iii, v, iv, ii
(C) i, iii, iv, ii, v

(D) iii, i, ii, iv, v

132 At the school stage in our country, the widespread
notion is in the favour of adopting
approach to the teaching of social studies rather than
the employment of approach.
(A) Integrated, Disciplinary
(B) Unit, Integrated
(C) Integrated, Unit
(D) Integrated, Correlated
T AT H foenerdl & X, @@ 9o 39 us A ¥
5 = wmifee oregs R % fag RIS
H YA TIEY SUMTH & T 9T
(A) T, forody
(B) T, THIFA
(C) whrgd, T
(D) THFH, FEwE

133 Who among the following maintain the record of all
the important activities held in social studies club?
(A) Secretary (B) Sponsor
(C) Treasurer (D) Publicity officer
= q A I SrHdT FS § ST Fee

TffaRmEr &1 sfiwE T@ar & 7
(A) s (B) wrdrst®
(C) @red (D) war sifaardl

134 Arrange the following steps of Project Method :
i, Choosing and purposing
ii. Planning of the project
iii. Providing a situation
iv. Execution of the project
V. Recording of the project
Evaluation of the project

ﬁﬂﬁmﬁmﬁr&r%ﬂﬁaﬁmﬂaﬁﬁq:

135 Match the following word search table :

Column A Column B

a. National Unity i. Civics

b. Industrial ii. Geography and
Revolution Economics

c. Industrial iii. Geography, History
Development and Civics

d. Constitution v. History

STETI @rel qTfereh! b ﬁmFr a?tf&fq
™ A Hie™ B

a. TG Tahdl i. =mTe eme

b. eivenfiv it i, piver we arfsme

c. afvenfir ferara iii. e, gfaer wd

| e gme
d. gfaum. iv. sfesa

(A) a-iii, b-iv, c-ii, d-i (B) a-iv, b-iii, c-ii, d-i
(C) a-i, b-ii, c-iii, d-iv (D) a-iv, b-iii, c-i, d-ii

136, According to

, "Intelligence is what
intelligence tests test."

(A) Burt (B) Binet

(C) Boring (D) Bukinghum
& AR, “ghg T8 o gheg qlie

Hqar &1

(A) & (B) f&A

(C) = (D) afthaw

137 According to Maslow first requirements come -
(A) Security (B) Respect

(C) Social (D) Physical

AT % STIET G99 Uee SG9aehard ey & —
(A) guan (B) §9H

(C) wmIweH (D) afem

138 Which of the following component is not related with
the '"Motivation Cycle'?
(A) Incentive (B) Need
(C) Drive (D) Emotion
frafafad ¥ 8 &9 @1 9 “siftwon 9% § et
T E?

(A) wiETEs (B) smasgear
(C) =g (D) =3
139 In the experiment done by Paviov what does C— S
indicates?
(A) Hunger (B) Food
(C) Saliva

(D) Sound of bell
TS E R T wE § C - S Ry 3P et 37

(A) @ (B) e
(€) = (D) =& & wafy

140 Which type of conditioning is most effective
for learning?
(A) Backward (B) Delayed
(C) Simultaneous (D) Trace
64 wHT & Srgae, oiftrmy % frg watfis gt 7
(A) wym (B) fawiftaa

i 9ad ud seed i

i, Qe g9

iii. oftRufa s@= ST

iv. v @ RparaaA

v, IS @ W S

vi. ISl @ e N .

(A) ii, iii, i, iv, vi, v (B) i, i, ii, iV, ¥, VI

(C) iii, i, ii, iv, vi, v (D) i, i, 1i1, 1V, V, V1
IP2 | —

(C) wemilves (D) 3rasy

14
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141 When a child learns to write with right hand it
facilitate his learning to write with left hand. This
transfer of writing skills from right hand to left hand
is known as -

(A) Bilateral transfer of learning
(B) Sequential transfer of learning
(C) Lateral transfer of learning
(D) Negative transfer of learning

79 9T S99 (FR) Ty ¥ faar draar € ) g e
@1 ST AT I IR (S) Ty } e ¥ g
Y &l & | 98 Q1Y 819 &1 I &1 § @y & Ao

142 Which are the main characteristics of learning

146

145 Which one of the following could be an end stage of
a child possessing bodily kinesthetic intelligence?

(A) Dancer (B) Tourist

(C) Poet (D) Political leader
omifies e ghg TEd A g= @t sifed s
Prefirftaa & = A & el & 7

(A) Td® (B) wdewh

(C) fy (D) Tt ar

Sources of Hazardous wastes :
(A) Animal wastes and pesticides
(B) Animal dung and plants

(C) Batteries, paints and solvents
(D) Batteries and tree leaves
Afaeqel Uit & & :

(A) UY FIAU & B

(B) WM&X M ST drd

(C) &=tr, Uz 3T Hicded

(D) ¥l afT st @ aftar

disabled children? 147 1 Petabyte :
(A) All of these (A) 1024 Megabytes (B) 1024 Gigabytes
(B) Hyper activity (C) 1024 Terabytes (D) 1024 Kilobytes
(C) Emotional instability 1 Yeremse :
(D) Lack of attention (A) 1024 AEmged (B) 1024 wnmramged
HTPT ET s B Y@ favand s ° ¥ 7 (C) 1024 TxEmged (D) 1024 Fperamsed
(A) 3 =0 148 How many types of rulers are there in MS Word?
(B) sifeiferan wgfer T TH 9€ ¥ oo qiE/TE % B0l ey & 7
(C) graftes e (A) 4 (B) 1
(D) U™ o AT ©) 2 (D) 3
143 One learns to operate mechanical gadgets such as 149 Which command is used to remove an index from the

radio, camera, T.V. etc. based on
(A) Insight Learning °
(B) Instrumental Conditioning
(C) Classical Conditioning
(D) Social Learning
fafir= weprt 3 431 99 e, Fwa, SN o B g
T % e 9T 9rEd )
(A) g it
(B) Afifaes srgae=
(C) Wb sgEu
(D) wmifstes siferm
144 Full form of nucleic acid 'DNA' is -
(A) Deoxy ribo Nucleic Acid
(B) Dual Nucleic Acid
(C) Deoxy Nucleic Acid
(D) Developed Nucleic Acid
i Uit TA.T. & g A & -
(A) it Rt =it Ofre
(B) sqer =i dftrs
(C) Srorad s tits
(D) Zaee iws Ve

P2 |

15

150

database in SQL?
(A) DROP INDEX
. (B) ROLL BACK INDEX
(C) DELETE INDEX
(D) REMOVE INDEX
Uh ST H UH F A (SQL) H 9% HAS W TH
T2H F BZH &b HH AT B, I8 E —
(A) 3f9 3279 (DROP INDEX)
(B) U & 32a (ROLL BACK INDEX)
(C) fewiiz 2@ (DELETE INDEX)
(D) foqa s=%8 (REMOVE INDEX)

The cache memory acts as a buffer between
and

(A) ROM and monitor
(B) Hard disk and monitor
(C) CPU and main memory
(D) Pen drive and ALU

S AW T FITHIECH ET A
& BT B
(A) 9 X "t

(B) & @ 3t midex
(C) |7 ik goz A9
(D) ¥ 3EF iR tumyg
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